N N	4	LakeCounty
1	10	Division of Transportation

Summary of Bids Received

Project: Miller Road Resurfacing **Section:** 14-00118-11-RS

Description: MIII, Patch and Resurface

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$1,070,420.33	-30.19%	-\$463,001.56
Geske and Sons, Inc.	400 E Terra Cotta Ave	Crystal Lake, IL 60014	Bid Bond	\$1,074,366.14	-29.94%	-\$459,055.75
Lorig Construction Company	250 East Touhy Avenue	Des Plaines, IL 60018	Bid Bond	\$1,128,025.03	-26.44%	-\$405,396.86
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$1,320,664.34	-13.87%	-\$212,757.55
Engineer's Estimate				\$1,533,421.89		
Design	IDOT(2)	Contract Bidder	P	'JT then Plan Rack		
Finance	Bid Tab File	Resident Eng.		administrative Assis	stant	
Construction	Project File	Request By Mail		∕Igr Capital Progran	mming	



Return Bid Tabulation

Project: Miller Road Resurfacing
Section: 14-00118-11-RS
Description: MIII, Patch and Resurface

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	J. A. Johnson Pav	ing Company	Lorig Construct	ion Company	Geske and	Sons Inc.	Peter Baker &	Son Company
	. uy couc	2 courption	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	171.0	CU YD	\$50.00	\$8,550.00	\$55.00	\$9,405.00	\$30.00	\$5,130.00	\$30.00	\$5,130.00	\$52.50	\$8,977.50
2	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	219.0	UNIT	\$200.00	\$43,800.00	\$425.00	\$93,075.00	\$165.00	\$36,135.00	\$12.00	\$2,628.00	\$324.70	\$71,109.30
3	28000400	PERIMETER EROSION BARRIER	616.0	FOOT	\$3.00	\$1,848.00	\$6.00	\$3,696.00	\$8.00	\$4,928.00	\$5.25	\$3,234.00	\$5.00	\$3,080.00
4	28100107	STONE RIPRAP, CLASS A4	562.0	SQ YD	\$150.00	\$84,300.00	\$30.00	\$16,860.00	\$62.00	\$34,844.00	\$35.00	\$19,670.00	\$59.40	\$33,382.80
5	28200200	FILTER FABRIC	562.0	SQ YD	\$3.00	\$1,686.00	\$10.00	\$5,620.00	\$2.25	\$1,264.50	\$1.50	\$843.00	\$1.00	\$562.00
6	35101400	AGGREGATE BASE COURSE, TYPE B	619.0	TON	\$25.00	\$15,475.00	\$24.00	\$14,856.00	\$30.00	\$18,570.00	\$12.00	\$7,428.00	\$5.00	\$3,095.00
7	40600290	BITUMINOUS MATERIALS (TACK COAT)	49,779.0	POUND	\$0.01	\$497.79	\$0.01	\$497.79	\$0.01	\$497.79	\$0.01	\$497.79	\$0.01	\$497.79
8	40600535	LEVELING BINDER (HAND METHOD), N70	20.0	TON	\$200.00	\$4,000.00	\$1.00	\$20.00	\$100.00	\$2,000.00	\$150.00	\$3,000.00	\$60.00	\$1,200.00
9	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	6,551.0	TON	\$75.00	\$491,325.00	\$70.00	\$458,570.00	\$57.00	\$373,407.00	\$58.30	\$381,923.30	\$47.40	\$310,517.40
10	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	4,188.0	TON	\$75.00	\$314,100.00	\$70.00	\$293,160.00	\$63.00	\$263,844.00	\$64.25	\$269,079.00	\$56.70	\$237,459.60
11	44000164	HOT-MIX ASPHALT SURFACE REMOVAL, 3 3/4"	31,151.0	SQ YD	\$3.00	\$93,453.00	\$3.50	\$109,028.50	\$3.00	\$93,453.00	\$3.30	\$102,798.30	\$3.50	\$109,028.50
12	44000200	DRIVEWAY PAVEMENT REMOVAL	1,489.0	SQ YD	\$5.00	\$7,445.00	\$15.00	\$22,335.00	\$11.00	\$16,379.00	\$4.00	\$5,956.00	\$5.00	\$7,445.00
13	44201713	CLASS D PATCHES, TYPE I, 6 INCH	164.0	SQ YD	\$75.00	\$12,300.00	\$15.00	\$2,460.00	\$35.00	\$5,740.00	\$45.00	\$7,380.00	\$20.00	\$3,280.00
14	44201717	CLASS D PATCHES, TYPE II, 6 INCH	245.0	SQ YD	\$75.00	\$18,375.00	\$15.00	\$3,675.00	\$35.00	\$8,575.00	\$41.65	\$10,204.25	\$20.00	\$4,900.00
15	44201721	CLASS D PATCHES, TYPE III, 6 INCH	736.0	SQ YD	\$75.00	\$55,200.00	\$15.00	\$11,040.00	\$32.00	\$23,552.00	\$39.50	\$29,072.00	\$20.00	\$14,720.00
16	44201723	CLASS D PATCHES, TYPE IV, 6 INCH	491.0	SQ YD	\$75.00	\$36,825.00	\$15.00	\$7,365.00	\$32.00	\$15,712.00	\$39.50	\$19,394.50	\$20.00	\$9,820.00
17	48101200	AGGREGATE SHOULDERS, TYPE B	6.0	TON	\$100.00	\$600.00	\$50.00	\$300.00	\$65.00	\$390.00	\$150.00	\$900.00	\$155.00	\$930.00
18	63000009	STEEL PLATE BEAM GUARDRAIL, TYPE B, 9 FOOT POSTS	487.5	FOOT	\$30.00	\$14,625.00	\$27.00	\$13,162.50	\$27.00	\$13,162.50	\$50.93	\$24,828.38	\$27.00	\$13,162.50
19	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4.0	EACH	\$2,500.00	\$10,000.00	\$2,400.00	\$9,600.00	\$2,400.00	\$9,600.00	\$3,100.00	\$12,400.00	\$2,400.00	\$9,600.00
20	63200310	GUARDRAIL REMOVAL	574.0	FOOT	\$5.00	\$2,870.00	\$5.00	\$2,870.00	\$5.00	\$2,870.00	\$8.93	\$5,125.82	\$5.00	\$2,870.00
21	67100100	MOBILIZATION	1.0	L SUM	\$69,000.00	\$69,000.00	\$40,500.00	\$40,500.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$76,250.00	\$76,250.00
22	70300100	SHORT TERM PAVEMENT MARKING	7,880.0	FOOT	\$0.50	\$3,940.00	\$0.33	\$2,600.40	\$0.50	\$3,940.00	\$0.20	\$1,576.00	\$0.35	\$2,758.00
23	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	1,313.0	SQ FT	\$0.10	\$131.30	\$1.00	\$1,313.00	\$0.40	\$525.20	\$0.20	\$262.60	\$0.01	\$13.13
24	70300210	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS	291.2	SQ FT	\$3.00	\$873.60	\$0.01	\$2.91	\$1.00	\$291.20	\$1.05	\$305.76	\$0.01	\$2.91
25	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	26,732.0	FOOT	\$0.25	\$6,683.00	\$0.01	\$267.32	\$0.20	\$5,346.40	\$0.21	\$5,613.72	\$0.01	\$267.32
26	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	27,108.0	FOOT	\$0.30	\$8,132.40	\$0.01	\$271.08	\$0.22	\$5,963.76	\$0.23	\$6,234.84	\$0.01	\$271.08
27	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	672.0	FOOT	\$0.40	\$268.80	\$0.01	\$6.72	\$0.30	\$201.60	\$0.32	\$215.04	\$0.01	\$6.72



Return Bid Tabulation

Project: Miller Road Resurfacing
Section: 14-00118-11-RS
Description: MIII, Patch and Resurface

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	J. A. Johnson Pav	ing Company	Lorig Constructi	on Company	Geske and	Sons Inc	Peter Baker & :	Son Company
item No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
28	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	83.0	FOOT	\$1.50	\$124.50	\$0.01	\$0.83	\$2.00	\$166.00	\$2.10	\$174.30	\$0.01	\$0.83
29	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	3,940.0	FOOT	\$2.00	\$7,880.00	\$1.00	\$3,940.00	\$1.00	\$3,940.00	\$0.20	\$788.00	\$0.65	\$2,561.00
30	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,703.0	FOOT	\$1.00	\$1,703.00	\$0.90	\$1,532.70	\$0.90	\$1,532.70	\$0.63	\$1,072.89	\$0.60	\$1,021.80
31	78001120	PAINT PAVEMENT MARKING - LINE 5"	25,405.0	FOOT	\$0.30	\$7,621.50	\$0.37	\$9,399.85	\$0.37	\$9,399.85	\$0.27	\$6,859.35	\$0.05	\$1,270.25
32	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	431.0	EACH	\$10.00	\$4,310.00	\$1.00	\$431.00	\$6.69	\$2,883.39	\$5.00	\$2,155.00	\$5.00	\$2,155.00
33	88600600	DETECTOR LOOP REPLACEMENT	474.0	FOOT	\$20.00	\$9,480.00	\$16.90	\$8,010.60	\$17.00	\$8,058.00	\$17.75	\$8,413.50	\$16.90	\$8,010.60
34	LC200051	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$500.00	\$1,500.00	\$1,500.00	\$4,500.00	\$200.00	\$600.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
35	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	7,106.0	UNIT	\$1.00	\$7,106.00	\$1.00	\$7,106.00	\$1.00	\$7,106.00	\$1.00	\$7,106.00	\$1.00	\$7,106.00
36	LC600200	INSTALL SURVEY MONUMENTS	5.0	EACH	\$500.00	\$2,500.00	\$1,250.00	\$6,250.00	\$400.00	\$2,000.00	\$200.00	\$1,000.00	\$600.00	\$3,000.00
37	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	291.2	SQ FT	\$10.00	\$2,912.00	\$5.50	\$1,601.60	\$5.50	\$1,601.60	\$9.98	\$2,906.18	\$9.50	\$2,766.40
38	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	26,732.0	FOOT	\$1.50	\$40,098.00	\$1.62	\$43,305.84	\$1.62	\$43,305.84	\$1.26	\$33,682.32	\$1.20	\$32,078.40
39	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	672.0	FOOT	\$2.00	\$1,344.00	\$2.55	\$1,713.60	\$2.55	\$1,713.60	\$2.10	\$1,411.20	\$2.00	\$1,344.00
40	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	83.0	FOOT	\$8.00	\$664.00	\$10.20	\$846.60	\$10.20	\$846.60	\$9.98	\$828.34	\$9.50	\$788.50
41	LC782000	GUARDRAIL REFLECTORS	29.0	EACH	\$15.00	\$435.00	\$12.00	\$348.00	\$12.00	\$348.00	\$8.40	\$243.60	\$12.00	\$348.00
42	X0321461	PILLAR REMOVAL	5.0	EACH	\$500.00	\$2,500.00	\$250.00	\$1,250.00	\$105.00	\$525.00	\$250.00	\$1,250.00	\$810.00	\$4,050.00
43	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	3,925.0	SQ YD	\$10.00	\$39,250.00	\$3.50	\$13,737.50	\$4.00	\$15,700.00	\$3.30	\$12,952.50	\$6.90	\$27,082.50
44	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$5,000.00	\$15,000.00	\$2,500.00	\$7,500.00	\$2,200.00	\$6,600.00	\$3,000.00	\$9,000.00	\$500.00	\$1,500.00
45	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$49,000.00	\$49,000.00	\$65,200.00	\$65,200.00	\$20,000.00	\$20,000.00	\$14,860.00	\$14,860.00	\$27,250.00	\$27,250.00
46	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	148.0	EACH	\$50.00	\$7,400.00	\$56.00	\$8,288.00	\$56.00	\$8,288.00	\$30.45	\$4,506.60	\$29.00	\$4,292.00
47	XX006343	SEEDING (COMPLETE)	2,629.0	SQ YD	\$10.00	\$26,290.00	\$5.00	\$13,145.00	\$6.50	\$17,088.50	\$6.83	\$17,956.07	\$6.50	\$17,088.50
		Bid Total				\$1,533,421.89		\$1,320,664.34		\$1,128,025.03		\$1,074,366.14		\$1,070,420.33



Project: Miller Road Resurfacing

Section: 14-00118-11-RS

Description: MIII, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	171	CU YD	\$50.00	\$8,550.00	\$30.00	\$55.00	\$41.88
2	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	219	UNIT	\$200.00	\$43,800.00	\$12.00	\$425.00	\$231.68
3	28000400	PERIMETER EROSION BARRIER	616	FOOT	\$3.00	\$1,848.00	\$5.00	\$8.00	\$6.06
4	28100107	STONE RIPRAP, CLASS A4	562	SQ YD	\$150.00	\$84,300.00	\$30.00	\$62.00	\$46.60
5	28200200	FILTER FABRIC	562	SQ YD	\$3.00	\$1,686.00	\$1.00	\$10.00	\$3.69
6	35101400	AGGREGATE BASE COURSE, TYPE B	619	TON	\$25.00	\$15,475.00	\$5.00	\$30.00	\$17.75
7	40600290	BITUMINOUS MATERIALS (TACK COAT)	49,779	POUND	\$0.01	\$497.79	\$0.01	\$0.01	\$0.01
8	40600535	LEVELING BINDER (HAND METHOD), N70	20	TON	\$200.00	\$4,000.00	\$1.00	\$150.00	\$77.75
9	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	6,551	TON	\$75.00	\$491,325.00	\$47.40	\$70.00	\$58.18
10	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	4,188	TON	\$75.00	\$314,100.00	\$56.70	\$70.00	\$63.49
11	44000164	HOT-MIX ASPHALT SURFACE REMOVAL, 3 3/4"	31,151	SQ YD	\$3.00	\$93,453.00	\$3.00	\$3.50	\$3.33
12	44000200	DRIVEWAY PAVEMENT REMOVAL	1,489	SQ YD	\$5.00	\$7,445.00	\$4.00	\$15.00	\$8.75
13	44201713	CLASS D PATCHES, TYPE I, 6 INCH	164	SQ YD	\$75.00	\$12,300.00	\$15.00	\$45.00	\$28.75



Project: Miller Road Resurfacing

Section: 14-00118-11-RS

Description: MIII, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
14	44201717	CLASS D PATCHES, TYPE II, 6 INCH	245	SQ YD	\$75.00	\$18,375.00	\$15.00	\$41.65	\$27.91
15	44201721	CLASS D PATCHES, TYPE III, 6 INCH	736	SQ YD	\$75.00	\$55,200.00	\$15.00	\$39.50	\$26.63
16	44201723	CLASS D PATCHES, TYPE IV, 6 INCH	491	SQ YD	\$75.00	\$36,825.00	\$15.00	\$39.50	\$26.63
17	48101200	AGGREGATE SHOULDERS, TYPE B	6	TON	\$100.00	\$600.00	\$50.00	\$155.00	\$105.00
18	63000009	STEEL PLATE BEAM GUARDRAIL, TYPE B, 9 FOOT POSTS	488	FOOT	\$30.00	\$14,625.00	\$27.00	\$50.93	\$32.98
19	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4	EACH	\$2,500.00	\$10,000.00	\$2,400.00	\$3,100.00	\$2,575.00
20	63200310	GUARDRAIL REMOVAL	574	FOOT	\$5.00	\$2,870.00	\$5.00	\$8.93	\$5.98
21	67100100	MOBILIZATION	1	L SUM	\$69,000.00	\$69,000.00	\$20,000.00	\$76,250.00	\$41,687.50
22	70300100	SHORT TERM PAVEMENT MARKING	7,880	FOOT	\$0.50	\$3,940.00	\$0.20	\$0.50	\$0.35
23	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	1,313	SQ FT	\$0.10	\$131.30	\$0.01	\$1.00	\$0.40
24	70300210	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS	291	SQ FT	\$3.00	\$873.60	\$0.01	\$1.05	\$0.52
25	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	26,732	FOOT	\$0.25	\$6,683.00	\$0.01	\$0.21	\$0.11



Project: Miller Road Resurfacing

Section: 14-00118-11-RS

Description: MIII, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
26	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	27,108	FOOT	\$0.30	\$8,132.40	\$0.01	\$0.23	\$0.12
27	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	672	FOOT	\$0.40	\$268.80	\$0.01	\$0.32	\$0.16
28	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	83	FOOT	\$1.50	\$124.50	\$0.01	\$2.10	\$1.03
29	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	3,940	FOOT	\$2.00	\$7,880.00	\$0.20	\$1.00	\$0.71
30	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,703	FOOT	\$1.00	\$1,703.00	\$0.60	\$0.90	\$0.76
31	78001120	PAINT PAVEMENT MARKING - LINE 5"	25,405	FOOT	\$0.30	\$7,621.50	\$0.05	\$0.37	\$0.27
32	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	431	EACH	\$10.00	\$4,310.00	\$1.00	\$6.69	\$4.42
33	88600600	DETECTOR LOOP REPLACEMENT	474	FOOT	\$20.00	\$9,480.00	\$16.90	\$17.75	\$17.14
34	LC200051	REJECTED LOAD TRANSPORTATION	3	LOAD	\$500.00	\$1,500.00	\$200.00	\$1,500.00	\$675.00
35	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	7,106	UNIT	\$1.00	\$7,106.00	\$1.00	\$1.00	\$1.00
36	LC600200	INSTALL SURVEY MONUMENTS	5	EACH	\$500.00	\$2,500.00	\$200.00	\$1,250.00	\$612.50
37	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	291	SQ FT	\$10.00	\$2,912.00	\$5.50	\$9.98	\$7.62



Project: Miller Road Resurfacing

Section: 14-00118-11-RS

Description: MIII, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
38	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	26,732	FOOT	\$1.50	\$40,098.00	\$1.20	\$1.62	\$1.43
39	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	672	FOOT	\$2.00	\$1,344.00	\$2.00	\$2.55	\$2.30
40	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	83	FOOT	\$8.00	\$664.00	\$9.50	\$10.20	\$9.97
41	LC782000	GUARDRAIL REFLECTORS	29	EACH	\$15.00	\$435.00	\$8.40	\$12.00	\$11.10
42	X0321461	PILLAR REMOVAL	5	EACH	\$500.00	\$2,500.00	\$105.00	\$810.00	\$353.75
43	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	3,925	SQ YD	\$10.00	\$39,250.00	\$3.30	\$6.90	\$4.43
44	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3	CAL MO	\$5,000.00	\$15,000.00	\$500.00	\$3,000.00	\$2,050.00
45	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	L SUM	\$49,000.00	\$49,000.00	\$14,860.00	\$65,200.00	\$31,827.50
46	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	148	EACH	\$50.00	\$7,400.00	\$29.00	\$56.00	\$42.86
47	XX006343	SEEDING (COMPLETE)	2,629	SQ YD	\$10.00	\$26,290.00	\$5.00	\$6.83	\$6.21
		Bid Total				\$1,533,421.89			